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Q.24

Ans 1.
2.
3.
4
Question ID : 65497830805
Status : Answered
Chosen Option : 2
Q.25

ans 1 14,400

2-15,000
3.24,000

432,400

Question ID : 65497830816
Status : Answered
Chosen Option : 3

Section : Part D English

Q.1 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The farmer walked beside his bulls, isn’t it?
Ans 1. did he

2. No substitution required
3. didn’t they
o 4. didn’t he

Question ID : 65497830827
Status : Not Answered
Chosen Option : --

Q.2 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The children were / bubbling with excitement / at the thought of / seeing sea.
Ans 1. bubbling with excitement

«” 2. seeing sea
3. The children were

4. at the thought of

Question ID : 65497830837
Status : Not Answered
Chosen Option : --
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Q.3 Select the most appropriate meaning of the given idiom.

Maiden speech
Ans 1. Unprepared speech

2. Last speech
«” 3. First speech

4. Madam'’s speech

Question ID : 65497830835
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate ANTONYM of the given word.

Dispute
Ans 1. Trouble
2. Doubt
«” 3. Agreement

4. Confusion

Question ID : 65497830836
Status : Not Answered
Chosen Option : ==

Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence.lf there is no need to substitute it, select ‘No substitution required’.

If we are not clear about the exact meaning of a word, we should look into a
dictionary.

Ans 1. look of
2. look to
o 3. look up

4. look on

Question ID : 65497830834
Status : Not Answered
Chosen Option : --

Q.6 Select the most appropriate ANTONYM of the given word.

INVERT
Ans 1. Lean

«” 2. Straighten
3. Upset

4. Reverse

Question ID : 65497830842
Status : Not Answered
Chosen Option : --
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Q.7 Select the most appropriate meaning of the given idiom.

A dime a dozen
Ans 1. Something which is not expensive

2. Something which costs a dime
3. Something which can be bought only in dozens

«” 4. Something very common or of little value

Question ID : 65497830839
Status : Not Answered
Chosen Option : --

Q.8 Select the most appropriate option to fill in the blank.

Mother’s back was too to work any longer, so she lay down to rest.
Ans 7 1.sore
2. sick
3. sour

4. soft

Question ID : 65497830846
Status : Not Answered
Chosen Option : ==

Q.9 Select the option that can be used as a one-word substitute for the given group of
words.

A means of altering one's appearance to conceal one's identity
Ans 1. Dress

2. Drape
3. Distort
o 4. Disguise

Question ID : 65497830840
Status : Not Answered
Chosen Option : --

Q.10 Select the INCORRECTLY spelt word.
Ans 1. Fright

” 2. Freind
3. Freeze

4. Frigid

Question ID : 65497830828
Status : Not Answered
Chosen Option : --
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Q.11 Select the most appropriate synonym of the given word.

Recover
Ans 1. Remain

2. Retain
3. Refrain
" 4. Regain

Question ID : 65497830833
Status : Not Answered

Chosen Option : --

Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

To reduce to a shorter form intended to stand for the whole
Ans 7 1. Abbreviate

2. Shrink
3. Protract
4. Extend

Question ID : 65497830843
Status : Not Answered
Chosen Option : --

Q.13 Select the INCORRECTLY spelt word.
Ans 1. Curious

o 2. Assistence
3. Participant

4. Exchanged

Question ID : 65497830844
Status : Not Answered
Chosen Option : --

Q.14 Select the most appropriate synonym of the given word.

Remedial
Ans 1. Harmful

2. Medicinal
«” 3. Corrective

4. Superficial

Question ID : 65497830838
Status : Not Answered
Chosen Option : --
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Q.15 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

By this time tomorrow / we will have / reached to Delhi.

Ans 1. By this time tomorrow
2. No error
3. we will have

o 4. reached to Delhi

Question ID : 65497830841
Status : Not Answered
Chosen Option : ==

Q.16 Select the most appropriate option to fill in the blank.
War and Peaceisa_______ written by Leo Tolstoy.
Ans 1. notable
2. distinguished
3. celebrated

«” 4. masterpiece

Question ID : 65497830830
Status : Not Answered
Chosen Option : --

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

An area where fruit trees are grown

Ans 1. Farm
«” 2. Orchard
3. Field

4. Garden

Question ID : 65497830831
Status : Not Answered
Chosen Option : --

Q.18 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Ans 1. with giving so many
«” 2. No substitution required
3. by give so many

4. by giving so much

Question ID : 65497830845
Status : Not Answered
Chosen Option : --
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Q.19 Select the most appropriate option to fill in the blank.

The situation became after the scuffle between the farmers and the police.
Ans 1. smooth

o 2. serious
3. sad

4. funny

Question ID : 65497830829
Status : Not Answered
Chosen Option : --

Q.20 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The penalty for / not wear masks / in public places / should be increased.
Ans 1. The penalty for

2. should be increased
«” 3. not wear masks

4. in public places

Question ID : 65497830832
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Technology has made our lives simple and fast. The biggest (1) has been the
development of the internet. The internet is a (2) of technology. It has brought us
closer and people sitting at (3) corners of the world can easily communicate. It
facilitates shopping, money (4) , online learning etc. Cybercrimes are a result of the
misuse of the internet. Children’s (5) to online games is another major problem faced
by parents today.
SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank no. 1.

Ans & 1. contribution
2. value
3. hindrance

4. supply

Question ID : 65497830848
Status : Not Answered
Chosen Option : --
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Technology has made our lives simple and fast. The biggest (1) has been the
development of the internet. The internet is a (2) of technology. It has brought us
closer and people sitting at (3) corners of the world can easily communicate. It
facilitates shopping, money (4) , online learning etc. Cybercrimes are a result of the
misuse of the internet. Children’s (5) to online games is another major problem faced
by parents today.
SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no. 2.

Ans 1. asset
2. favour
3. burden

«” 4. boon

Question ID : 65497830849
Status : Not Answered
Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Technology has made our lives simple and fast. The biggest (1) has been the
development of the internet. The internet is a (2) of technology. It has brought us
closer and people sitting at (3) corners of the world can easily communicate. It
facilitates shopping, money (4) , online learning etc. Cybercrimes are a result of the
misuse of the internet. Children’s (5) to online games is another major problem faced
by parents today.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no. 3.

Ans 1. near
o 2. distant
3. farther
4. further

Question ID : 65497830850
Status : Not Answered
Chosen Option : --
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Technology has made our lives simple and fast. The biggest (1) has been the
development of the internet. The internet is a (2) of technology. It has brought us
closer and people sitting at (3) corners of the world can easily communicate. It
facilitates shopping, money (4) , online learning etc. Cybercrimes are a result of the
misuse of the internet. Children’s (5) to online games is another major problem faced
by parents today.
SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no. 4.

Ans 1. contracts
«” 2. transactions
3. sites

4. business

Question ID : 65497830851
Status : Not Answered
Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Technology has made our lives simple and fast. The biggest (1) has been the
development of the internet. The internet is a (2) of technology. It has brought us
closer and people sitting at (3) corners of the world can easily communicate. It
facilitates shopping, money (4) , online learning etc. Cybercrimes are a result of the
misuse of the internet. Children’s (5) to online games is another major problem faced
by parents today.
SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no. 5.

Ans 7 1. addiction
2. indifference
3. desire

4. interest

Question ID : 65497830852
Status : Not Answered
Chosen Option : --

Section : Part D Hindi
Q1 gRaRe &1 yafaarh 3-
Ans 1. WdH

PRCINCT

3. dlgh
4. Yideh

Question ID : 65497830872
Status : Answered
Chosen Option : 1
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